F1

F1-budget Curve of D31 Dataset with batch size 5

0.9 1

0.8 1

0.7 1

0.6 1

0.5 1

0.4 1

0.3 1

....................................

e ’Fx_.«
A /

s /

4
/
/
/
7/
/
K4

0.910=+0.005
0.966+0.004
— QBC (0.904+0.007
== ~QBC+Ours (0.968+0.003
—_ BMDR (0.807+0.013

S ( )
—— US+Ours ( )
( )

( )

( )

== BMDR+Ours (0.969+0.003)
( )

( )

( )

( )

( )

- Random (0.505+0.009
SWAL-cora (0.893+0.017

-®- SWAL-corb (0.898+0.012
-®- SWAL-prop (0.930+0.004
UPAL (0.923+£0.009

0 200 400 600 800 1000 1200

Budget



